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GENERAL STUDIES

PART -1
1. From which village does the famous Sri Nanda Devi Raj Jat Yaatra begin ?
(@ Dhondi (b) Nonika
(c) Nauti (d) Ksua
2. Which is the first country to legalise Euthanasia ?
(@ Switzerland (b) Mexico
(¢) Netherlands (d) Belgium
3. Which Constitutional amendments provided reservation to women in Panchayats ?
(a) 72" (b) 73"
(c) 74" d 75"
4. Who was the first non-head of state to address the British Parliament ?
(@ Hillary Clinton (b) Sonia Gandhi
(c) Christine Legarda (d) Aung San Suu Ki
5. The first country to introduce the institution of Ombudsman (Lokpal) was
(@ Sweden (b) Norway
(¢) Finland (d) Switzerland

6. Who among the following is the principal deity of Sri Padmanabha Swamy Temple,
Thiruvananthapuram, Kerala ?

(@ Vishnu (b) Surya
(c) Shiva (d) Kartikeya
7. Which folk dance of Uttarakhand is included in UNESCO'’s intangible heritage list ?
(d Ramman (b) Chanchari
() Chholiya (d) Jhumelo
8. Match List — | with List — Il and choose the correct answer from the codes given below :
List— 1| List— 11
(Founders) (Newspapers)
A. C.R. Das 1. Bande Matram
B. Lala Lajpat Rai 2. Samvad
Komudi

C. Madan Mohan Malviya 3. Forward
D. Raja Ram Mohan Roy 4. Indian Union

Codes
A B C D
@ 2 4 1 3
(b) 3 1 4 2
(c) 2 4 3 1
d 3 1 2 4
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HIT-1
T &t T I TT S I R e W W et § 2
(@) = (b)
(c) Hwr (d) =pgem
T 4o (FARRTAT) T AL S UG L ST Teel 3 i 91 ¢ 2
(a) RacsRevg (b) TfcraeH!
(c) Hm¥eive (d) dfesem
Tohe TareTen Teme §RT AfeeTatl bl Tardal § STRI0T WS fohaT T 2
(a) 72dt (b) 73dt
(c) 74dt (d) 75t
ToTeeT WO ol Teifed e aTell T X TSTETeT i o 2
() Teordt forered (b)  Sifrar i
(c) Trem e (d) T T= g &
SMEHAT (GATHUTE) TEAT Hl YT T AT TH I 2T
(a) wdreT (b) =t
(c) fre (d) faeseTs
frfefad o 9 i fqesm=uRy, e, & S TgHanT W@ 9f<T % T 3o § 2
(@ foo (b) @&
(c) W& (d) EAIED)
71 & O ST@UE 1 DI AT Al T A Dl ST Fihiash 4Re gel § A & 2
(@) v (b) =R
(c) ®iferar (d) s
-1 1 -1 F GAferd SHifT qor =i 5T M0 e 9 9t ST 9T
-1 -1
(HEITI) (RET=IY W30)
A, ORI 1. S=URH
B. e oTeUd IF 2. WA el
C. WAHRTHAEEE 3. ®RaS
D. ST quHRA I 4.  zeaa grEa
&<
A B C D
@ 2 4 1 3
(b) 3 1 4 2
(c) 2 4 3 1
d 3 1 2 4
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9.  Who s Yingluck Shinwatra ?
(@) First women to become Chancellor of Germany.
(b) She was the Prime Minister of Israel.
(c) Sheis the first lady Prime Minister of Thailand.
(d) She is the Honorary President of China.

10. Under which Article of the Indian Constitution the Supreme Court has declared the right
to free legal aid and speedy trial as a fundamental right ?

(@) Article-14 (b) Article-19
(c) Article-21 (d) Article-32

11. Match the List — I with List — Il and select the correct answer from the codes given below

the lists :
List—1 List— 11
(Organisation) (Founders)

A. Prarthana Samaj 1.  Pheroz Shah Mehta
B.  Servants Society of India 2. Atmaram Pandurang
C. Bombay Presidency Association 3.  Madam Blavatsky
D. Theosophical Society 4.  Gopal Krishna Gokhale
Codes :

A B C D
@ 4 1 3 2
(b) 2 4 1 3
(c) 4 1 2 3
d 3 4 2 1

12.  Which one of the following languages has been included in the Eighth Schedule of the
Constitution as a result of 92" Amendment ?

(@) Bhojpuri (b) Dogri
() Konkani (d) Magahi

13. The first U.N. International Conference on Environment was held at
(@) RiodeJaneiro (b) Kyoto
(c) Stockholm (d) Johannesburg

14. “Marchhas’ and ‘Tolchhas’ are related to which Tribe ?

(@) Raji (b) Boksa
(c) Jaunsari (d) Bhotiya
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15. According to 2011 Census the literacy rate of Uttarakhand is
(@) 65.48% (b) 71.60 %
(c) 75.18% (d) 79.63%

16.  Which revolt is known as the “‘Bardoli of Kumaon’ ?
(@ Askot Revolt (b) Saklana Revolt

(c) Tilari Kand (d) Salt Revolt

17.  Arrange the following rulers of Garhwal in the chronological order they ruled :

(1) Ajay Pal (2) Kanak Pal
(3) Fateh Pati Shah (4) Man Shah
(@ 3,1,4,2 (b) 4,3,1,2
(c) 2,1,4,3 d 3,2,1,4

18. By which name ‘Kumaon region’ was known in the ancient literature ?
(@ Kedar Khand (b) Manas Khand
(¢) Punya Bhumi (d) Dev Bhumi

19. Kumaoni Holi begins every year with
(@) Faag Ki Holi (b)  Sringar Ki Holi
(c) Nirvan Ki Holi (d) Khadi Holi

20.  Who was the first recipient of Paramvir Chakra from Kumaon Regiment ?
(@ Gen. B.C. Joshi (b)  Major Shaitan Singh
() Major Somnath Sharma (d) Hav. Chandri Chand

21.  When the Tehri State Praja Mandal was formed ?
(@) 23" January 1936 (b) 23" January 1937

(c) 23" January 1939 (d) 23" January 1940

22.  Who among the following Kings was Killed in the battle of Khurbura in 1804 A.D. ?

(@) Prakram Shah (b) Pradhumna Shah
(c) Sudarshan Shah (d) Jaikrit Shah
Series-C 6 AIM

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



15.

16.

17.

18.

19.

20.

21.

22.

AIM

2011 I STRTOMT & STTHN STRIEUE H TR 5T &
(@) 65.48% (b)  71.60%
€) 75.18% d)  79.63%

o fosie ol “HHTS Sl aREIEA” & A8 & ST A § 2
(a) oTE foEE (b) e fosTE
(c) oot =is d) e fosie

e & [ATARgd YT Sl 3ok I HIcTshH o STYN 0T ST erd &

(1) 3517 °ret (2) FHIh A
(3) el Ti 9 4) THIE

(@ 3,1,42 (b) 4,3,1,2
(© 2,1,43 d) 3,2,1,4

TE Aifec | ‘IS & i [ohd AT | ST ST 1 2

() FRRET (b) wFEET

(c) Tua9H (d) z=um
FHTS EeAl Wit T Bt &

(8) ET B B | (b) =R =l B |
PHTS THH< T RHAR =5k U e ST T TR i T 2

(a) TR &S (b) Ao e
(©) e e v (0) e

fo&dt T~ UST AU ot TIAT e i TS o 2
(a) 23 SFERI 1936 (b) 23 SFERI 1937
(c) 23 SHERI 1939 (d) 23 ST 1940

ffefad & | I 91 ST 1804 . H GEIST % 5 | TRT 77T 247 2
(@ TTIRH IE (b) T T

(c) HIwH e (d) SPEHd wE
7

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

Series-C



23. The credit for discovering the Valley of Flowers goes to
(@ William Smith (b) Margaret Laigi
(¢) Richard Holdsworth (d) Frank Smythe
24. The real name of poet ‘Gumani’ was
(@) Damodar Pant (b) Lokratna Pant
() Mathura Dutt Pant (d) Gumani Pant
25.  ‘Chipko Movement’ started from
(@ Jaunpur (b) Reni
(c) Jakholi (d) Ghuttu
26. The largest cultivable area in Uttarakhand is covered by which crop ?
(@) Paddy (b) Wheat
(¢) Sugarcane (d) Potato
27.  Which one of the following Novels is not written by Shailesh Matiyani ?
(@) Kabutarkhana (b) Kameene
(c) Jaymala (d) Mahabhoj
28. The historical fort of ‘Khagmara’ near Almora was built by
(@) Katturys (b) Chands
(c) Gorkhas (d) Britishers
29. The next Olympic Games in the year 2016 will be held at
(@) Singapore (b) Colombo
(c) Riode Janeiro (d) Berlin
30.  Which one of the following countries won ‘Gold Medal’ in football during 2012 London
Olympics ?
(@) Brazil (b) Mexico
(c) Spain (d) Iran
31. The first district level “‘e-court’ in India was inaugurated in
(@) Kerala (b) Karnataka
(c) Delhi (d) Sikkim
Series-C 8 AIM
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32.

33.

34.

35.

Which one of the following cities is credited to have organized the Olympic Games
thrice ?

(@) Berlin (b) Beijing

(c) Atlanta (d) London

Who was awarded the ‘Dada Saheb Phalke’ award for the year 2011 ?
(@ Soumitra Chatterji (b) Dev Anand
(¢) Rajesh Khanna (d) Yash Chopra

The Global Nuclear Security Summit 2012 was held at
(@ New Delhi (b) London
(c) New York (d) Seoul

Which one of the following armies is the largest in the world ?
(@) United States Armed Force

(b) The Russian Army

(¢) The Indian Army

(d) Peoples Liberation Army of China

36. Match List — I with List — 1l and select your answer from the codes given below :
List—1 List— 11
(Country) (Capital)
A. Mauritius 1. Havana
B. New Zealand 2.  Manama
C. Bahrain 3. Wellington
D. Cuba 4.  Port Louis
Codes :
A B C D
@ 1 2 3 4
(b) 4 3 2 1
(c) 3 2 1 4
d 2 1 4 3
37.  Who is the first Indian to win Dada Saheb Phalke Award ?
(@) Devika Rani (b) Madhubala
(c) Nargis (d) Durga Khote
38. Name the person who held the post of Chief Minister of an Indian State for five
consecutive terms ?
(@ N.D. Tiwari (b) Jyoti Basu
() Mayawati (d) Tarun Kumar Gogoi
Series-C 10
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39.  Which one of the following group of organisms has the largest number of species ?
(@ Mammal (b) Insect

(¢c) Bird (d) Reptile

40.  Which of the following is not a pesticide ?
(@ B.H.C. (b) Aldrin
(c) D.D.T. (d) Ephedrine

41.  Which one of the following plant products has genes of a bacterium ?
(@) Bt. Brinjal (b) Golden delicious Apple
(c) Dashari Mango (d) Amrapali Mango

42.  Two women put claim over a child as mother; which test can prove this claim to be true ?
(@) Vidal Test (b) Tuberculin Test
(c) D.N.A. Test (d) ELISA Test

43. Intellectual Property Rights (I.P.R.) in India covers
(@) Patents (b) Copyrights
(c) Trademarks (d) All of the above

44. Which one of the following plants cannot be generally multiplied by seeds ?
(@) Papaya (b) Apple
(c) Banana (d) Mango

45. Cholesterol is a
(@) Lipid (Sterol) (b) Carbohydrate

(c) Protein (d) Vitamin

46.  Which one of the following diseases is caused due to defect in gene ?

(@ Haemophilia (b) Typhoid
(c) Malaria (d) Jaundice
Series-C 12 AIM
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47. Containers for keeping strong acids are made of
(@ Platinum (b) Brass
(c) Copper (d) Glass

48. In birds, sound is produced by
(@ Airsacs (b) Trachea
(c) Larynx (d) Syrinx

49.  Which one of the following has the highest pH ?
(@) Coffee (b)  Wine
(c) Milk (d) Lemon juice

50. The National Agricultural Insurance Scheme was launched on
(@ 22 June, 1999 (b) 23 June, 1999
(¢) 24 June, 1999 (d) 25 June, 1999

51. Kisan Credit Card (KCC) Scheme was started since
(@ July 1998 (b) August 1998
(c) September 1998 (d) October 1998

52. In which of the following years the Board for Industrial and Financial Reconstruction
(BIFR) came into existence ?

(a) 1987 (b) 1989
(c) 1993 (d) 1994

53. How many banks were nationalized in India on 15™ April 1980 ?
@ 4 (b) 5
c) 6 (d 8

54. The Prevention of Money Laundering Act, 2002 become effective since which one of the
following dates ?

(@ July 2002 (b) August 2003
(c) July 2004 (d) July 2005

55.  Who established the “Khudai Khidmatgar” organization ?

(@) Jawahar Lal Nehru (b) Mahatma Gandhi
(c) Khan Abdul Gaffar Khan (d) Mohammed Ali Jinnah
Series-C 14 AIM
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56. In which of the following Sessions of Congress the slogan of “Purna Swaraj” was raised ?
(@) Kanpur Session (b) Lahore Session
(c) Calcutta Session (d) Lucknow Session

57.  On 8" August 1942, ‘Quit India’ Call was given at
(@) Calcutta (b) Karachi
(c) Ahmedabad (d) Bombay

58. Mihirbhoja was the ruler of
(@) Paladynasty (b)  Gurjar-Pratihar dynasty
(c) Chandella dynasty (d) Cheradynasty

59. The capital of the newest U.N. Member, South Sudan is
(@) Bangui (b) Bandarseri Begwan
(c) Baku (d) Juba

60. Buddha attained Nirvana at
(@ Taxila (b) Bodh Gaya
(¢) Kushinagar (d) Kausambi

61. Who was the winner of French Open Tennis Tournament 2012 ?
(@ Novac Zocowik (b) Daniel Nelson
(c) Rafael Nadal (d) Roger Federer

62. 'Who has been awarded ‘Rajiv Gandhi Khel Ratna’ award for the year 2011 ?
(@  Sushil Kumar (b) Gagan Narang
(c) Mary Kom (d) Saina Nehewal

63. Which one of the following organizations merged with the Indian National Congress ?
(@ Indian National Conference (b) Bombay Presidency Association

(c) East India Association (d) Indian Association

64. Who was the first Indian Professor at the Oxford University ?

(@ SirC.V. Raman (b) Dr. Hargovind Khurana
(c) Dr. S. Radhakrishnan (d) Gita Gopinath
Series-C 16 AIM
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65. Which one of the following continents has the highest number of countries ?
(@ Asia (b) Africa
(c) Europe (d) America
66. Which one of the following countries is known as “The land of the blue sky” ?
(@ Japan (b) India
() Mangolia (d) Maldives
67. Which satellite is under planning to be launched by ISRO to study about the Sun ?
(@ Aditya (b) IRS-1A
(c) Bhaskar-I (d) PSLV-C7
68. In which of the following years the Indian Rupee was devalued for the second time ?
(@) 1971 (b) 1961
(c) 1997 (d) 1966
69. Which one of the following States was formed in the year 1987 ?
(@ Manipur (b) Meghalaya
() Mizoram (d) Nagaland
70.  Which one of the following pairs is not correctly matched ?
Tribes Habitat
(@) Fulani —  West Africa
(b) Bantu - Sahara
(¢) Masai - East Africa
(d) Nuba - Sudan
71.  Which one of the following is the State animal of Uttarakhand ?
(@ Musk Deer (b) Monal
(c) Bharal (d) Tiger
72.  Who among the following is known as the ‘Gandhi of Uttarakhand’ ?
(@) Govind Ballabh Pant (b) Hemwati Nandan Bahuguna
(¢) Indramani Badoni (d) Badri Dutt Pandey
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65. =1 H 9 fhg TeET § qad oM Sw § 2

(a) TfemE (b) TR
(c) = (d) emfE

66. =1 T F for 97 Bl “Aict STTRITT I &A™ el STl € 2
(@ <M= (b) 9rRa
(c) wmiferr (d) wRE

67. TAU ERT G % IR H STHHINET & foIT fhg Suwre 6t 9 ST <6l AT € 2
(@) enfeca (b)) SEIARTH-1T
(€) T -1 (d) dTguAdE -G 7

68. YRGIT FUT F TEI AR 1Y Frfeiad § ¥ frg au | fepar mma o 2
@ 1971 (b) 1961
€) 1997 d) 1966

69. =1 T ¥ &I T USw ¥ 1987 H YR g3 2

(@) =T (b) e
(c) friiem (d) =mmeRe
70. T=fafad § & 9 91 g gaferd =&l € 2
EREUGR AT TSI
(2) o ~ e TR
(b) =7 - W
(c) waE - O SR
(d) Tsm - A
71. fAffad § 9 9 91 STRRIUS 1 T U9 § 2
(@) hER T (b) wF
(c) WA (d) <
72. T O frTe! STRI@US T T FeT S § 2
(a) AR oo ud (b) THA g SEIOm
(c) =AM T d) SsiET T
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73.  Whose sacrifice ultimately led to the liberation of the people of Tehri from Monarchy ?
(@) Baba Uttarakhandi (b)  Sridev Suman
(c) Jai Dutt Vella (d) Hargovind Pant

74.  Who among the following won gold medal for Tennis in Olympic 2012 ?
(@ Maria Sharapova (b) Agneska Radwanska
(c) SaraErrani (d) Serena Williams

75.  What is the percentage of ground water of the total water available on earth ?
(@) 10% (b) 20%
() 311% (d) about0.7%

76.  Which one of the following is the largest lake in the world ?
(@) Caspian Sea (b) Lake Baikal
(c) Dal Lake (d) Sambhar Lake

77. Which one of the following was the youngest competitors in Olympic 2012 ?
(@) Gita Fogat (b)  Missy Franklin
(c) Yohan Blake (d) Adzo Koposi

78. How many questions canvassed during population enumeration in Census of 2011 ?
(@ 23 (b) 24
(c) 25 (d) 29

79.  Which of the following badminton players of India won a medal in Olympic 2012 ?
(@ Jwala Gutta (b) Saina Nehewal
(c) P.Kashyap (d) Ashwini Ponappa

80. India is the second country to host the South Asian Games three times. Which one of the
following Indian cities hosted South Asian Games First ?

(@) Kolkata (b) Chennai
(c) New Delhi (d) Hyderabad

81. In which year the demand for separate Pakistan was raised by Muslim League ?

(@ 1922 (b) 1935
(c) 1940 (d) 1945
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73. TRk WO & 37 feast sl STar ot TSTeme! | qfert el 2

(a) e STRREUE (b) siea gae

(c) STas ool (d) TONa=s ud
74, frteREd § 9 T ofieiimes 2012 | 29 & foid 07 ugeh ST ?

(a) R R (b) T TR

(€) | (d) A fafoams
75. Ul X SUCTS T T fohe =T TiaeTe SETe O o6 & 2

(@ 10% (b) 20%

() 31.1% (d) o 0.7%

76. frefofad § 9 % 9 fove o gad a2} =iet & 9

(a) I AR (b)  SreT et
(€) = (d) TR et
77. = H 9 ®F S 2012 H Q HH 3G H UGART o7 2
(a) i wiTe (b) Tt Shepferm
(c) IRH =H (d) TS B

78. 2011 W SFRIVFT H STHEEAT & AT e | o= uee 9 7T & 2
@ 23 (b) 24
(c) 25 d) 29

79. = ¥ ¥ 9Rd & {59 JefieT faaret 3 fiafms 2012 H uge S 2
() oIt T (b) AT AgeT
(c) . F¥aT (d)  3fvat gio

80. WRd IR0 TRMETE TeAl ol A IR SATEST H alell T 39 & | Ffertad o 9 b 9
IR | STT0T TIRTATE Tl b1 TSI Taet g3t 2

(@)  PIcTehr (b) <=7
(c) = feeit d) TEEE
81. Toh® Iy H R T §RT 3TN AT i HET 1 T8 &t 2
(@ 1922 (b) 1935
(c) 1940 (d) 1945
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82.  Which one of the following ministries is responsible for organising the Republic Day

Parade ?
(@ Ministry of Home Affairs (b)  Ministry of Defence
(¢) Ministry of Human Resources (d)  None of the above

83.  Which one of the following States has not been given membership of the United Nations
Organization till now ?

() Bahamas (b) South Sudan
(c) Timor Leste (d) Palestine

84. Who has the record of winning the highest number of medals in Olympics till now ?
(@ lan Thorpe (b) Larisa Latynina
() Michael Phelps (d) Sergei Bubka

85.  Who among the following was a member of the Azad Hind Fauj ?
(@ Laxmi Sahagal (b)  Aruna Asaf Ali
(c) Sarojini Naidu (d) Vijaylaxmi Pandit

86. The Eleventh Schedule of Indian Constitution is related to
(@) Panchayati Raj (b) Language
(c) Citizenship (d) Centre-State relation

87. How many representatives are there in the Rajya Sabha from Uttarakhand ?
@ Two (b) Three
(c) Four (d) Five

88. Which one of the following Amendments granted Right to Education ?
(a) 85" Amendment (b) 86™ Amendment
(c) 87" Amendment (d) 88™ Amendment

89. The Right to Information (RTI) was first introduced in the year
(@) 2003 (b) 2004
(c) 2005 (d) 2006

90. Where is the famous ‘stone war’-*‘Bagwal’ is organised in Uttarakhand ?

(@ Dania (b) Gauchar
(c) Tharali (d) Devidhura
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82.

83.

84.

85.

86.

87.

88.

89.

90.

AIM

frfafaa 8 @ forq Semera w1 Siferee Tores fSod e ST S § 2

(@) T T (b) e HATCE

(c) HMa HEH Hed (d) SWied o 9 ®iE Tl
=1 7 9 o5 391 1 o1edt 7ok W U T B TS el &1 T § 9
(a) wEEH (b) SRl g
€ fmRw= (d) fEfrem
AT H 3T} T FaTeh Heel S o1 Nehe el & 2

() w9 (b) AR et
(c) TEHA %ol (d) ?lﬁ's’ﬂaﬁﬁr
11 O @ @ TR 68 ISt 6 U TeT of 2

(@) T T (b)  3TEUT T 3Tl
(c) U g (d) fosTaeredt died
(a) T TS H (b) wmorH

(c)  FmTReRer & (d) FEIoT g9 o
IS § TG % o3t fera=t ufatfy 2ia € 2

@ = (b) =

(c) =W (d) dr=

T O 9 fope eme = Torem o1 S1fepR ve fRar € 2

(@)  8sdl TY (b) 86aT TRNE
(c)  87al TEmE (d) 8sar FEme
T FT SMYER (3TR21.31E) 6T e Tgett SR AN fefar e o 2
(@) 2003 (b) 2004 H
(c) 2005 (d) 2006 H

SIGUE HT UGG U0 Jg” — “Srelel” @l ST fehar S & 2
(@ == (b) TR
(c) emwdt (d) =

23
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GENERAL APTITUDE TEST
PART -2

91. A number consists of two digits whose sum is 11. If 27 is added to the number, then the
digits change their places. What is the number ?

(@) 65 (b) 83
(c) 92 d) 47

92. The difference on a certain amount on 5% rate between compound and simple interest is
3 6 for two years. What is the amount ?

(@) 2,000 (b) 2,200
(c) 2,400 (d) 2,600

93. In an examination, a student is awarded four marks for correct answer and one mark is
deducted for a wrong answer. Student attempts 75 questions and secures 125 marks. What
is the number of his correct answers ?

(@ 35 (b) 40
) 42 (d) 48

94. | reach my office 40 minutes late if | walk from my house at the speed of three km/hour. 1
shall be 30 minutes early if | walk at the speed of 4 km/hour. Find the distance between
my house and the office in km.

(@ 11km (b) 12 km
() 13 km (d) 14 km

95. Inasurvey it was found that 65% people listen TV news and 40% read newspapers, while
25% follow both. How many percent of people neither listen TV news nor read
newspapers ?

@ 20% (©b) 15%
() 10% d 5%

96. Insert the missing number :

QO Q O Q O

29 D D

(@ 160 (b) 100
(c) 50 d) 75
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W Jfeg uieTor
HAT-2

91. UH T U T 37 &, [Seh I 11 € | IS 30 & H 27 SIST ST d 3feh {01 T g8 o
T | TEHE T ?
(@ 65 (b) 83
© 92 d) 47

92. ot H foRdlt AT WX 5% Y I T TTHROT TS TAT Tshaleg AT H 3R T 6 & | I8 T T & 2
@ 2,000 (b) T 2,200
©) T 2,400 d) % 2,600

93. UH WA § UH I Hl Th Tl IR & [T IR 3 et & T T Tord SR & T 0 37k
FHEAT T | BF A 75 U9 &1 T 3T 125 31k U U | 396 el I b1 ST fohert & 2

@ 35 (b) 40
(c) 42 (d) 48

94. AT H U W W O hH/HeT S fq T For & df 31 IR 40 e I T ugTar § 1 A
30 e STosl Ugd ST afs | 4 T H1./HeT & fd & 9otal & | WY 5% 9 g o g4 [, §
AT HY |
(@) 11 TmHT (b) 12 THHT
(c) 13w (d) 14 fHHT

95. U WA § Fg AT TNl B 65% T IXII (2.A) W THER T & TAT 40% TGN T &,
STETeh 25% T e & | feret Wfererer T = At gYE (2la.) W WHER G €, 7 € @R ugd
g9
@  20% b)  15%

() 10% (d) 5%

96. forcye ST It

oo e‘e Q&

29 09 o
(@ 160 (b) 100
(c) 50 (d) 75
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97.

98.

99.

100.

101.

102.

In a firm the average salary of male employees is ¥ 520 and that of females is T 420. If the
overall average salary is ¥ 500, then ratio of male and female employees will be

(@ 70:30 (b) 80:20
c) 78:22 (d) 82:18

Find the odd one out.

(1) Arundhati Roy (2) Sobhana Narayan

(3) Sonal Mansingh  (4) Hema Malini

(@) Arundhati Roy (b) Sobhana Narayan
(c) Sonal Mansingh (d) Hema Malini

If ‘PORTER’ is written as ‘“QNSSFQ’, then ‘BRIGHT’ would be coded as
(@ CNJHIU (b) CQJFGS
(c) CNJHIS (d) CQJFIS

Bharati is 8 ranks ahead of Divya, who ranks 26" in a class of 42. What is Bharati’s rank
from the last ?

(@) 9" (b) 24"
(c) 25" (d) 34"

There are five different roads connecting Agra and Delhi. In how many ways a person can
complete his journey if he goes from Agra to Delhi by one road and returns by another
road ?

@ 9 (b) 10
(c) 15 (d) 20

In an examination Rajesh got 112 marks, which is 32 marks more than the passing marks.
Sonal got 75% marks, which is 70 marks more than the passing marks. What is the
minimum pass percentage marks ?

@ 35% (b) 45%
() 30% (d) None of these
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97.

98.

99.

100.

101.

102.

AIM

fordl T o o9 SHHENET ol 3G I 3 520 T S U 1 S 9 T 420 € | 3T TEor
3 g T 500 &, A 760 Ud T HHEEl § ST g

(@ 70 :30 (b) 80 :20

(c) 78:22 (d) 82:18

A sA v dR I = T2

(1) 7w I

(2) ST AR

(3) HHA gHgE

(4) &7 Wi

(a) oTEd T (b) AT ARTEOT
(c) WiTeT AT (d) &= mfer

Iig TRET Tiehide 9T § PORTER st ONSSFQ fofi@ar S, o ST «er § BRIGHT i 41 foran
ST 2

(8) CNJHIU (b) CQIFGS

(c) CNJHIS (d) CQIFIS

AR, e | § T W 2, S 42 h1 el § 26 8 ©M W e | 6 & WAl g &M W 2
(@) o9a (b) 243
(c) 254 d) 343

3RT 3R feoett ol Sie=t arelt 5 fafi= Tgeh € | U safa 3Tt A foha adich & QRT3 |ehelT
¥ afs I8 TR ¥ fEoot et U Feeh & ST Y 31 Tesh ¥ Tl 2

@ 9 (b) 10
© 15 d) 20

T TR | OUSIST 112 3k fHel, ST STl § 32 3k SURl & | Gl S 75% 3ok el st
ST & 70 375 ST € | G0 BT =AaH STvlieh Wiaerd foheT € 2

@ 35% (b)  45%
() 30% (d) =99 9 PiE &
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103. A man is facing south. He turns 135° anti-clockwise and then 180° clockwise. Which
direction he is facing now ?

(@ North-East (b) West

(c) South-East (d) South-West

104. Insert the missing number in the following series :

4,7, 11, 18, 29, 47, . 123,199
(@ 76 (b) 70
(c) 84 (d) 102

105. A group of 1200 persons consists of soldiers and captains. If every 15 soldiers have one
captain, then the number of captains is

@ 73 (b) 75

c) 70 d) 74

106. If the difference between 3/4 and 4/7 of a number is 100, then the number is
(@ 520 (b) 500
(c) 560 (d) 540

107. If9x3+8 =24,10x2+7=35and 80 x 40 + 3 = 6, then find the value of 12 x4 + 3
@ 7 () 9

€ 12 d) 16

108. The angle between the hour hand and the minute hand of a clock when time is 3 : 25 will

be
1° 1°
@) 475 (b) 425
(c) 60° (d) 45°
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103.

104.

105.

106.

107.

108.

AIM

T AR SRI0T I 3T Hg hich WET & | 98 HEl 1 Y i 0T f5om § 135° Fodr & 3R 39
IS TS BT TS B M T 180° FEAT & | 31T AT Ug {oh fqwm i X & 2

(@) SWTE (b) uiTew
(c) e gd (d) =feror afeem
TP et H ot HeE Sy
4,7,11,18,29,47, 123, 199.
@ 76 (b) 70
) 84 (d) 102

1200 =A% T T | FqUE 9 e & | g g 15 fanieal W U wE §, o HeE
=l T ¥

(@ 73 (b) 75

() 70 (d)y 74

I TRt AT o 3/4 721 4/7 o e 3R 100 €, f 9@ §
(@ 520 (b) 500

€) 560 (d) 540

T Ox3+8 =24,10x2+7=357a80 x 40 + 3 =68, af 12 x 4 + 3 I 7= T & |
(@ 7 (b) 9
) 12 d 16

TSI H 3 ST 25 e W HS ot TE F e 1 TE & oie | 0T &

1° 1°
(@) 472 (b) 422
(c) 60° (d) 45°
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109.

110.

111.

112.

How many triangles are there in the given figure ?

(@ 11 (b) 12
(c) 13 d 9

Which figure will come next ?

SIE
@ @ (5
U0 o

Find the smallest number which is when divided by 12, 16 and 18, the remainder in each
case is 5.

(@) 146 (b) 147
(c) 148 (d) 149

(©)

A 100 metre long train crosses a telephone pole in 10 seconds. Find the speed of the train.
(@ 36 km/hour (b) 33 km/hour
(c) 31 km/hour (d) 37 km/hour

113. Three views of a cube are given below. Which number is printed on the opposite face to
number 4 ?
2 4 1
3 4 1 2 5 0
(@ 5or6 (b) 3
(c) 6 (d 2
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109. F=1 3mepid H fohaet Byt € 2

(@ 11 (b) 12
(c) 13 d) 9

110. A | ST 3THIT I | &I 2

SPLOD
(@) @ (b)
(©) @ (d) {:}

111. 9 Ted B & Hehifew, fgent afg 12, 16 3 18 T WM S, af Udsh LN 4 5 99 7 |

(@) 146 (b) 147

) 148 d) 149

112. T 100 HieT oTrll ToTE! fohdl SHI®N o @R @l 10 hUe § IR Hidl &, Lorrel &l Tid ool
HIT |

(a) 36 ot Aver (b) 33 Tt Aver
(c) 31 fdt/mve (d) 37 fmHt /AT

113. = =7 & | it soms 12 & | aa {6 4 3 o [auRia Hee UT i 91 ek 3ifehd & 2

2 4 1
3 1 5

(@ 536 (b)y 3

c) o d 2
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114. If two cows and three horses cost ¥ 4,000 and three cows and two horses cost ¥ 3,500,
how much does a cow cost ?

(@ % 1,500 (b) % 1,000
(c) %500 (d) 2,000

115. If the product of two numbers is 320 and their ratio 1 : 5, then the sum of these two

numbers is
(@) 42 (b) 48
(c) 44 (d) 40

116. ‘X’ completes a job in 12 days. When ‘X’ has done the job for three days, “Y’ joins him
and they together complete the job in next three days. In how many days, ‘Y’ may alone
complete the job ?

(@ 4 (b) 8
(c) 10 (d 6

117. In a class the average age of 30 students is 15 years. If the teacher is included then the
average age is increased by one year. Find the age of the teacher.

(@ 40 years (b) 45 years
(c) 46 years (d) 48years

118. One lady, pointing to a man told that the father of his brother is the only son of my
grandfather. What is the relation of that lady with that man ?

(@ Mother (b) Sister
(c) Mother-in-law (d) Sister-in-law

119. The price of a commodity is increased by 60%. How much less percentage of the
commodity should be consumed by the consumer, so that expenditure on that commodity
should remain the same ?

@ 37.5% () 37%
) 40.5% d) 60 %

120. A man bought two shirts for ¥ 650. He sold one of them at a gain of 7% and the other at a
loss of 6%. On the whole he neither gained nor lost ? The cost of the shirts, respectively,

were
(@ T300,%350 (b) T 330,3320
(c) ¥350,%300 (d) ¥320,%330
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114, 3 7 T G A ISt o &1 T 4,000 81 3R O AT Ue < =}l % 9 3,500 &, o T T
1 S feha T € 2

(@) ¥ 1,500 (b) 1,000
(€) 500 d) 2,000

115. =g I7 TS BT OGS 320 T SR STH1 UM 1 : 5 &, q TS 7 AT 8
(@ 42 (b) 48
(©) 44 (d) 40

116. ‘TS TH HE H 12 GF H W w1 € | 5T TR 39 B I 3 A F GH AT €, A SR
T SH HE H B H A & ST & SR 347 A A &A1 H 39 B Bl R H A & |
“STS” 3ol I ST T fehe Tl H IR T Fehell € 2

(@ 4 (b) 8
(c) 10 d) 6

117. Tt e § 30 fornfemi 1 fad g 15 a9 & | Alg 3T S o IiHer Y forar Sy, o
3T U | Ush a9 &g ST € | 3TEAT9h bl SH Ul iy |

(a) 4099 (b) 4599
(c) 467 (d) 48 ad

118. U Higell = Uk SMH i 3T TR FIA G Fl o 3T AE o far A J1&7 it o Tohedldt g € |
3G GigeT 1 2TEH T 1 =Y § 2

(@) = (b) e
(c) == (d) wmf

119. TS T Hl BT 60 AT F¢ TE & | STHIHT BT 3T T & ST H e U bt BT HeAr
e Aih ST S T BT ST STeT W ARt @ 2

(@) 37.5% (b)  37%
(€) 40.5% d)  60%

120. U A = J FHHS T 650 H GRS | ST Tk HHS 7% AN W T A 6% &I W o= | 37
T T T N T B | IS St B, SHIT: off

(a) ¥ 300, T 350 (b) ¥ 330, 320

() ¥ 350,3300 (d) ¥ 320,3330
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qT =

WIT-3

121, do9H K FqW |

(@) e (b)

(c) it (d)
122. ‘T 91 1 foety &

@ % (b)

(c) Frm (d)
123. M= H ¥ fFQ v St o I © 2

(a) Toierem (b)

(c) Tt (d)
124. Tt | “Tgr i faeiq &

(@ i (b)

(c) =t (d)
125. “fafy’ =1 faomm &

(@) fAfa (b)

(c) wfafy (d)
126. “fF8 T IYHR H G dTAT” & [ U 915 &

(@ HE (b)

(c) TUHR (d)
127. T=tefad 5 @ % 91 9155 a5y9d 6l € 2

@) fm (b)

(c) =< (d)
128. =1 & @ &= @1 3% fergioor @l & 2

(@) wfeet (b)

() o=t (d)
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129. To=AifoRd o ©§ S 91 qarFaTel 8 I el § 2
(@) THTHL-FHERT (b) EFT-aTE
(C)  SFTR-STeTeR (d) =Ry

130. “q9 fF9 391 | Tedt & 27 S § forieor

(@ ™ (b) feper
(c) == (d)

H

131. T=Aferfiad | 9 i 91 9 dead el € 2
(a) =X (b) W
(©) oo (d) e

132. “SI9eY & 1% 1 GHI” & (o0 Uk 915 &
(a) YdE (b)  eTUTEA
(c) Tgfer (d) e

133. T=fcifad ¥ & o6 o1 ot o 95 € 2
(@) F=rdt (b) T
(c) (d) Gt

134, T=fofad 7 9 6 91 &t a1 g5 € 2

(@) B (b) F=m
(©) foeey (d) id

135. “29aR | o9 7 @ a1l” ol Fed &
(@) Foumcms (b) smiE®
(c) @ (d) -fes
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136. “HeT’ 1 foeti| &
(a) fower (b) foet

(c) ™« d) T

137. TATGEd | 9 IF 9o SRy

(@) = g e (b) T 3 3! FeT
) T TR (d) = = 5= et

138, ‘T H TE TR €U § FW HE F 0 P % o0 wh v
(a) A (OBEELENED
€ T (d) wFE

139. T=Afeifad § & i |1 918 Qe € 2
(@ = (b) =Id
(c) o= (d

140. FfeiEd § @ S 91 91 TurEre [T § 2
(@) W (b) =W
(c) =™R (d) feg

141. Fefafed § @ & 91 9% I 6 waiEar § 2

() ST (b) rHw
(c) TeTR (d) afr

142, foctiarel gm & 98 | i 91 T8t Tal & 2

(@) -3 (b) FH-FAT
(c)  Frgam-form (d) geweE
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143. Tr=fefad 5 9 fohg 915 ol ot 95 § 2
() wEE (b) HeE
(c) dW@E d) =

144, “GMR H N aTei A" 1 arEeh Ush U5 &
@) FEEIE (b) HClE
(c) Sweufa (d) wgam=

145. 78S I 9 |
(@) e (b) HR=T
(c) *w® d o

146. =99 9 T 91 I8 fa9ivor ¥ 2
(@) fowE (b) =
(c) @ (d) e

147, wATgaTe I % TR H HiF A1 T T ¢ 2
(a) WIRET — T (b) wf-Tem
() & (d) THeh - 3T

148. I T 9 ‘W T TATFET Tel & 2

@) Ty (b) TETH
(c) St (d) TR

149. T 91e5 &1 I QT GAEETE Tl & 2
(@) g (b) frrerm
(c) it (d) STt

150. “dE Sgd DIl igeh! & A | a9 &

(a) & (b) =&d
(c) = (d) s
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